L’ Arrondissement (H)
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90984

Arrondissez chaque nombre ci-dessous a la centaine pres.

755 969
101 685
274 2052
8460 8051
3603 8073
53973 75 656
86 562 51571
77139 863073
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L’ Arrondissement (H) Solutions

496
500

657
700

502
500

2 464
2500

2829
2300

89239
89 200

98431
98 400

90984
91000

Arrondissez chaque nombre ci-dessous a la centaine pres.

755 969
800 1000
101 685
100 700
274 2052
300 2100
8460 8051
8500 8100
3603 8073
3600 8100
53973 75 656
54 000 75700
86 562 51571
86 600 51600
77139 863073
77100 863 100

424
400

965
1 000

2137
2100

9699
9700

4521
4 500

37384
37400

23727
23700

887368
887400
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